
 
Fax Option Type M29 (D3DX) 
G3 Interface Unit Type M29 (D3DX) 
FAX Memory Unit Type M19 64MB (D3BZ) 
Fax Connection Unit Type M29 (D3DW) 
Handset HS3020 (D739) 

 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 
 
 

CONTENTS 
 

1. Fax Option Type M29 .............................. 2 P 
2. G3 Interface Unit Type M29..................... 4 P 
3. Fax Options.............................................  6 P 
4. Parts Index .............................................. 8 P 

. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  November 2, 2016 V1.00 

 

1 



 

1

5

101

101

104
104

101

101

3

4

8

2

102

102

101

6

7

103

105

104

104

104

 

1. Fax Option Type M29 

 

2 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D289 5814 BRACKET:FCU 1 101 0353 0050N SCREW-M3X5 5

2 B134 5050 SPEAKER:B134 1 102 0360 3006N SCREW - M3X6 2

3 D239 5886 BRACKET:SAFETY:FCU3.8E 1 103 1105 0780 CLAMP:LWST-1012 1

4 D239 5885 INSULATING SHEET:FCU3.8E 1 104 1105 0758 CLAMP:LWSM-0306A 5

5 D3A9 5262 MODULER CORD:CORE (NA only) 1 105 1607 2251 FERRITE CORE:K3 NF-75(N)BK0 (EU/AA/KOR/TWN/CHN) 1

6 D3BV 5030 GASKET:65TSV10-5(ZD):L10 1

7 D3BV 5031 GASKET:65TSV10-3(ZD5):L67 1

8 D895 0586 FCU:SERVICE PARTS (NA) 1

D895 0587 FCU:SERVICE PARTS (EU/AA/KOR/CHN) 1

D895 0588 FCU:SERVICE PARTS (TWN) 1

1. Fax Option Type M29

 

 

 

 

3 



 

6

101

101

1

4

2

101

101

101
101

101

101 3

101

102

5

 

2. G3 Interface Unit Type M29 

 

4 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D150 5634 PCB:CCUIF-A:ASS'Y 1 101 0360 3006N SCREW - M3X6 9

2 D289 5810 BRACKET:G3G4 1 102 1607 2251 FERRITE CORE:K3 NF-75(N)BK0 (EU/AA/KOR/TWN/CHN) 1

3 D3BV 5172 PCB:SG3-ND:ASS'Y (NA) 1

D3BV 5174 PCB:SG3-ND:ASS'Y (EU/AA/KOR/CHN) 1

D3BV 5176 PCB:SG3-ND:ASS'Y (TWN) 1

4 D3DX 5270 HARNESS:FCU-CCU:CORC15 1

5 D3DX 5701 SEPARATION PLATE:G3G4:ASS'Y 1

6 D3A9 5262 MODULER CORD:NA:CORE (NA Only) 1

2. G3 Interface Unit Type M29

 

 

 

 

5 



 

4

5

101

102

103

104

106

(D3DW-01,02,03)
Fax Connection Unit Type M29

 

3. Fax Options 
 

 

6 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D3BZ 5899 BRACKET:MEMORY 1 101 0353 0050N SCREW:M3X5 1

2 D242 5650 PCB:MBOARD:ASS'Y 1 102 0360 3006N SCREW:M3X6 2

3 D3DW 5001 SD-CARD:CONNECT:ASS'Y 1 103 0360 3012N SCREW:M3X12 2

4 D593 1012 BRACKET:HAND SET 1 104 0360 4012N SCREW:M4X12 2

5 D739 5005 HAND SET:ASS'Y (NA only) 1 105 0454 3006Q TAPPING SCREW:3X6 2

106 0458 3010N HEXAGON HEAD TAPPING SCREW:3X10 2

107 1105 0758 CLAMP:LWSM-0306A 1

108 1607 2251 FERRITE CORE:K3 NF-75(N)BK0 1

3. Fax Options

 

 

 

7 



4. Parts Index

Part No. Description Part No. Description

0353 0050N SCREW-M3X5 3 - 101 D3BV 5030 GASKET:65TSV10-5(ZD):L10 3 - 6

0353 0050N SCREW:M3X5 7 - 101 D3BV 5031 GASKET:65TSV10-3(ZD5):L67 3 - 7

0360 3006N SCREW - M3X6 5 - 101 D3BZ 5899 BRACKET:MEMORY 7 - 1

0360 3006N SCREW - M3X6 3 - 102 D3DW 5001 SD-CARD:CONNECT:ASS'Y 7 - 3

0360 3006N SCREW:M3X6 7 - 102 D3DX 5270 HARNESS:FCU-CCU:CORC15 5 - 4

0360 3012N SCREW:M3X12 7 - 103 D3DX 5701 SEPARATION PLATE:G3G4:ASS'Y 5 - 5

0360 4012N SCREW:M4X12 7 - 104 D593 1012 BRACKET:HAND SET 7 - 4

0454 3006Q TAPPING SCREW:3X6 7 - 105 D739 5005 HAND SET:ASS'Y (NA only) 7 - 5

0458 3010N HEXAGON HEAD TAPPING SCREW:3X10 7 - 106 D895 0586 FCU:SERVICE PARTS (NA) 3 - 8

1105 0758 CLAMP:LWSM-0306A 3 - 104 D895 0587 FCU:SERVICE PARTS (EU/AA/KOR/CHN) 3 - 8

1105 0758 CLAMP:LWSM-0306A 7 - 107 D895 0588 FCU:SERVICE PARTS (TWN) 3 - 8

1105 0780 CLAMP:LWST-1012 3 - 103 -

1607 2251 FERRITE CORE:K3 NF-75(N)BK0 (EU/AA/KOR/TWN/CHN) 3 - 105 -

1607 2251 FERRITE CORE:K3 NF-75(N)BK0 (EU/AA/KOR/TWN/CHN) 5 - 102 -

1607 2251 FERRITE CORE:K3 NF-75(N)BK0 7 - 108 -

B1345050 SPEAKER:B134 3 - 2 -

D150 5634 PCB:CCUIF-A:ASS'Y 5 - 1 -

D239 5885 INSULATING SHEET:FCU3.8E 3 - 4 -

D239 5886 BRACKET:SAFETY:FCU3.8E 3 - 3 -

D242 5650 PCB:MBOARD:ASS'Y 7 - 2 -

D289 5810 BRACKET:G3G4 5 - 2 -

D289 5814 BRACKET:FCU 3 - 1 -

D3A9 5262 MODULER CORD:NA:CORE (NA Only) 5 - 6 -

D3A9 5262 MODULER CORD:CORE (NA Only) 3 - 5 -

D3BV 5172 PCB:SG3-ND:ASS'Y (NA) 5 - 3 -

D3BV 5174 PCB:SG3-ND:ASS'Y (EU/AA/KOR/CHN) 5 - 3 -

D3BV 5176 PCB:SG3-ND:ASS'Y (TWN) 5 - 3 -

Page and

Index No.

Page and

Index No.

 

 

8 


	1. Fax Option Type M29
	2. G3 Interface Unit Type M29
	3. Fax Options
	4. Parts Index

